T

TWO TREES

PRODUCT MANUAL

BURN DOWN ETERNITY

Laser Engraver

Note: The picture is for reference only, the actual product shall prevail




LETTER FROM TWOTREES HZEFH—1{E

Dear Customers,

Thank you for choosing us.

It's customer-oriented idea, continuous innovation and pursuit of excellence that enable every-
body to have wonderful experience in using process.

We believe that this manual will be helpful.

Hope you enjoy the good time with TwoTrees.

If you have any problems, please feel free to contact us via:

Website: www.twotrees3d.com

Facebook: https://www.facebook.com/groups/twotrees3Dprinter/

For general inquiry: info@twotrees3dcom For technical support: service@twotrees3d.com
We will contact you within 24 hours.

Sincerely yours,

TwoTrees Team

EENER:

RSB T HA )M,

HMN—EBUER NTA, THEH, BRI, £ M ABEAEERIIETREFENER,
HELREEZ S MRIIRHBILFE S,

WNREEERR), BHE SRS EF 8 EIRE R
HMEXRRER:

PIuL : www.twotrees3d.com

& SRS : service@twotrees3d.com
BifHR#E : info@twotrees3d.com
FATEE24/ N\ R R _E15,

B TE IR !

{RARARS 1 BA



PRECAUTIONS FE5m

Please follow the instruction, due to misuse will be at your own risk.
IERER I BRI TIRE, A XS B f1,

1. Avoid looking steadily at the laser, which may damage your eyes.
B KB BRI, PIRE B =,
2. Avoid touching directly during the machine working.
BRIV ERY AR A IZ AR A 25
3. You can place a metal plate under the engraved or cut object to prevent your table being
burned through.
BEZIRIIRE] LA — R B AR A B L SN B BIA T 75, B LE R E = 5.
4. Avoid combustible object or gas.
B PR AR S SR
5. Keep it away from children or pregnant women.
TE)LBEHEA,
6. Do Not take apart the laser without instructions.
B8 BRI ER.
7. Do Not use it on material that reflects the light.
BENERRIICBIMEL EEA.
8. Wear goggles while taking off the laser cover.
EARE A ERH LI E R,
9. Turn off the power when not use.

NMERINERHBIR.

SAFETY GUIDELINES Z£315%

Warning: Laser engraving machine cannot directly carve or cut material that reflects the light;

may cause injury.
L& BN TR ERER TIREME, XoJRERNRIERIS B E A F.

The product has a high engraving speed and is not recommended for industrial cutting. And the

laser head is a consumable.
ZF A ZIREIR, AR T TN T m BB L2 E R,
Do not operate the laser head directly with your hands. Please wear goggles.

ENER TR, RN EEE R BN ERAFRIFA k.

The laser diode is a sensitive component, please prevent static damage. (This product has an

electrostatic protection design, but there is still a possibility of damage).

B TRER— I EURAN, BERREHERT (- RERBRIPRIT, BERIFBIFTEE)

CONTENTS H=R

01

About your machine *F #1238

Part list fofF&

02

04

Parameters S#%&

Assembly #2340 3

Wiring 1Z4& 5

Adjustment Hl23iF%

Adjust the focus £ =iE%E

GRBL Instruction GRBL \|J#i2

Connect PC M 23:&E1&EPCimfER

Test before use #1233k

After-sales service &GRS

05

14

16

17

18

22

24

25



ABOUT YOUR MACHINE xTF#128 PART LIST ##&

1. Belt hold-down plate R #EIR 5 |
2.Y1 Motor  YTEEH] P
3. Right-angle bracket HfE%Z% : -
4. Synchronous wheel %%

5. Laser module Ey¢iE4R >

6. Foot pad 3] Motor X3 Y1 block (left) X1 Mounting plate of laser X1
7. Power interface  EEJRIZEO == Y1:B8% () B ERREER
8. USB-PC interface USB-PC £
@®
L 3
= = h%
Y2 block (right) X1 Motherboard unit X1 X-axis block X1
Y2:8% (B) FiRERH XHBZE
1. Motherboard unit EiRAH - . ]
2.Y2 Motor Y2E1#]
3. X-axis motor  XHHEEH
4, Synchronous belt RF% & .
Laser module X1 Foot pad X4 450mm profile X2
BUOLRRA i Bt

495mm profile X3 Right-angle bracket X2 M5*8 Screw and Belt
ik HAZE hold-down plate X6
M5*8I 42 5 fF i [E IR

01 02



M5*20 X12 M5*12 X8 M3*10 X14

MAIN PARAMETERS #123&%

Model S T
Machine Size #l28R~T 550*540*180 mm
Machine Weight Hl#8E& 2.4 kg
Engraving Size BEZISEE 380*380 mm
Laser Wavelength &K 4455 nm

Engraving Method BZIA T USB Connect PC USBEX#]

Engraving Accuracy BZIFEE 0.1mm

Engraving Speed RfZ|iEE 8000mm / min

Software Support System R IFRS Mac, Windows

Material #28# B

Aluminum Profile + Plastic Parts $BE!44+¥B%H4E

Electrical Requirement iR

12V 4A DC

Motherboard &i#liR

LKS Motherboared=1x (8bit)

Laser Power #F¢IhE

DB-5500/DB-2500mW (Optional®]i)

Synchronous belt X3 Self-locking nut X2 USB Cable X1
Bk BHHEE USB#IEL
Wires X1 Laser Goggles X1 Tool bag X1
57| pabial=ki1 I8G

Power Supply X1
BBIR

03

File Format iR HER

Supported Software Z#FEHF

NC,BMP,JPG,PNG,GCODE,ETC

LaserGRBL (Windows%%t), Lightburn (Commoni&Hi)

Power Type HjFEZEHE USA / EU Plug BT / BX4T / 4T (Optional AT3%)

Chinese, English, Italian, French, German
X, BX. BAMIE. EX. B8

RHTemperature 5-40°C, Humidity 20-60%RH

Software Support Languages X iHES

Working Environment T{FIfi5

JRE5-40°C, 2E20-60%

Engraving Materials BfZI#4 B Wood, Plastic, Paper, Leather, Sponge Paper, Alumina

AR BHL. BE. KRE. BRL. S

Engraving Mode BfZI#&E=( Image carving / Text carving / Scanning carving /

Contour carving / Pixel carving

EfCREZ]. SCEREZ). PR, REEELl. KRR

04



ASSEMBLY #2840

1. Install the motor of the left block A3/ MI;EZERIEA]

Y1 Block (left) ;8% (/&£) x1Pcs
Motor EB#l x1Pcs
M3*10 screw 1242 x4Pcs

After assembly H3EFHE

Note: The position of the motor port

AR REFRNFZEOEERATRHOE

2. Install the motor of the right block H3A M ZERE]

Y2 Block (right) 8% (£5) x1Pcs
Motor B4 x1Pcs

M3*10 Screw 2% x4Pcs After assembly H3EEHER

Note: The position of the motor port

AR REEEYEOEESRATRHNUE
05

3. Install the motor of X-axis block 483X %38 ZEFIEEH,

X-axis block X3#&Z x1Pcs
Motor B4 x1Pcs

M3*10 Screw 1222 x4Pcs Note: The position of the motor port

AR REGENNEOEEPRTNUE

After assembly AR
4. Install the laser module B3 #F¢iEAH
Laser module E¥¢iE4H x1Pcs
Mounting plate of laser (2SR ENR x1Pcs
After assembly AEEHE

M3*10 screw 1222 x2Pcs

Pay attention to the mounting holes Note: The position of the knob of the laser module

ARREALM AR REEFURANTRHEERRARIUE
06



5. Install the frames £AZEHESS M5*12
450mm Profile B4t x2Pcs M5*203
495mm Profile B4t x2Pcs ‘ :
M5*20 Screw 1822 x4Pcs

Y2 block (right)
Y2BE (B)

450mm Profile
itk

_~ M5*20

M5*20
M5*1 2_'L

-
495mm Profile '

B4

450mm Profile
Bitt

)

'Ltmz
M5*20

450mm Profile
itk

Y1 block (left)

T Y1B%E (k)

M5*20

M5*20

Push the belt hold-down plate and M5*8 screw units
into the V-shaped groove of the profile.

495mm Profile
B ERMMS*8IR 22 A4 MEIMVEL-RIETHN.

450mm Profile
itk

Note: Please follow and check the sequence of these

installation steps.

AR ZRINFEEXK, EEELEIRF,

Profile threaded hole facing outward, Pay attention to the mounting holes.

BUMRAFLRASh, E R R U

6. Install the foot pad ZBZEEH]
Foot pad il x4 Pcs
M5*12 Screw 222 x4 Pcs
M5*20 Screw 1222 x4 Pcs
M5*8 Screw and Belt hold-down plate M5*8 124 5 #EHR x4 Pcs

1. Install Y1 block and Y2 block into the profile groove according to the direction shown in
the figure. After installation, the motor faces outside;

2. Push the hold-down plate and M5*8 screw under the V-shaped groove of the profile.

3. Tighten the foot pads on the profile frames by screws.

1. BRERFTR S 1, BY B EMY2BE REHA s, RETEEAN T IMI; After assembly H&/EHR
2. &%E*&*ﬂM5*8‘%§ﬁéﬁ1¢}\}\§EMV§E‘E$§—F?ﬁ)\O Note: Y1 motor and Y2 motor should be installed to face outside. If it is difficult to push the components
3. BT IR 2GR B R T RAMESE b in, please refer to the operation steps on page 16 to adjust the eccentric nut.

AR YIBASV2BNRESRELER, BHLTINE, HMAHENREEHBHTUEELITUHRES BRATROED,

07 08



7. Install the Y-axis synchronous belts B3 YHi[ES #

Synchronous belt F$## x 2Pcs
After assembly HEEEHR

Synchronous wheel

Y2 block (right)
Y2BE (B)

Y1 block (left)
Y1BE (k)

@ Pass the synchronous belt through the hold-down plate at the end of the profile. By
tightening the screws on the hold-down plate to fix the synchronous belt. Note: The
tooth of the synchronous belt faces the profile.

R HEREREM GRDHEMNEMKRBRNER TS F . BT EER AR LEERTS S, KRS S
EEFo

The assembly of synchronous belt of Y2 right block
Y2iBE () AFTREREE

09

(@ Pass through the first POM wheel and over the synchronous wheel, the teeth of the
synchronous belt mesh with the synchronous wheel, and then pass through the other
POM wheel.

3 Pull and pass the belt through another hold-down plate. Tighten and fix the belt at the
other end of the profile by tightening the screw .

@ Push the block to check whether it can slide smoothly on the profile.

@ ME—" POM R TFAZH, ZIRAPE EHAHERPENEMS, REBME—1 POM BF T HEFH,.
G BRASFHRES —ONERTEL, NERYH , BTt RRLE BT HEELT .
@ #ERNBE, NE R IEBEEM LB R0,

Note: the installation steps of synchronous belts on both sides are the same.
A MANESHRESREE N

The assembly of synchronous belt of Y1 left block
Y1BE (E) RAFHRETEE

10



8. Install the X-axis ZH3EX%

Profile #Y44495mm x1Pcs
X-axis block X% x1Pcs

Right-angle bracket Eff%%2 x 2Pcs
Belt hold-down plate

* Y
M5*20 Screw 1822 x2Pcs " S
Belt hold-down plate F## %R x2Pcs
Synchronous belt F$# x1Pcs é

Note: Please follow and check the
sequence of these installation steps. If
it is difficult to push the components
in, please refer to the operation steps
on page 16 to adjust the eccentric nut.
AR REINFEEX, BEEXEIF.

I N SIS T Al I E B 16 DU
SREHROES,

Right-angle bracket
BHAXE

X-axis block X#i;8%E

Profile Z4#4495mm

Right-angle bracket
BEAXR

Belt hold-down plate

B HER

Install the X-axis synchronous belts B3XHE]H
Shown as picture [BZ L NE FFRR

gt Pay attention to the
After assembly B3EFER mounting holes

n ABREM

9. Install the X-axis unit £H3EX%hA 4

M5*12 Screw 1822 x 4Pcs

AN

After assembly AEEHR

Mind the installation order

ARREAM

12



10. Install the laser module B4R WIRING DESCRIPTION %éﬁiﬁ EH

Laser module EFHR4H x1Pcs
Self-locking nut B2 x2Pcs

Probe Y Motor X Motor X Endstop|Y Endstop|5V Output
y; : e Y EA X B X PR{iL Y MRAi SV it

UsB

After assembly HEEFMER

AUX1 TTL Output| |12V Output Power port
BhiRR AL 12V ¥ BBiED

11. Install the motherboard unit 83 =R 2R

Motherboard unit F#RE4 x1Pcs
M5*20 Screw 12%2 x2Pcs

Laser wiring BtskiEsk

Note: The picture is for reference only, the actual product shall prevail

A BRNESE, UShE
13

14



15

Laser module and X-axis motor

BOCIRA S XA

| 15
f——] R T 7
[[| [Tt

Y1 motor Motherboard Y2 motor

Y1EEM ER Y2EEH

When wiring the mainboard, you can choose to remove the front bezel of the mainboard for wiring.

FMRIRLET, AR T EARATEIRH TR,

ADJUSTMENT #128iF%L

1. Check that the POM wheel of the X-axis fits the profiles, ensuring smooth movement
without jamming.

KWEXMEZEPomE G SN, B Rl RE -~

Adjustment with an open-end wrench

ERFORFHTEE

2. Check that the POM wheels of the Y1Y2 block fit the profiles, ensuring smooth movement
without jamming.

KEY1Y2;8EPomBEE R, BallimigE il

Note: D It is the most appropriate position to feel a little friction between the POM wheel
and the profile when rotating the POM wheel.
2 If the wheel is hovering and rotating,it does not fit the profile the eccentric nut can
be adjusted clockwise from the screw head with a wrench
(3 When the pulley is difficult to push into the profile, use an open-end wrench to
adjust the eccentric nut. Do not push blindly, it will cause wheel damage.

QIR FETH R B WS EM BT AMIRL L S RIRE AR F AT ROES,
QB EENEMEMEN, BEAAORFREROES, V)75 BEASSBIE TR,

16



ADJUSTMENT #128F%

Focus adjustment before engraving:

Before engraving, it is necessary to adjust the focus. The focus is
on the surface of the engraved object, and the distance
between the laser module and the engraved object is from 25
to 75.

Adjustment method:

The software controls the emission of the laser. Rotate the knob
at the bottom of the laser module to adjust the focus.

BEZIRT AR AR

HTHEZIE, FEHTESEAE, ELEREERMZIYERE, SR
B SR BEZ AR E 25 < B S <T75M91E

A

R SIEOLRA Y, NSO R AR S e s AT =

Note:
1. Be careful of high temperature and wear goggles.
| 2. The knob of the laser module shall not be loose.

ZSTM 3. Ensure that it is within the focusing range.
75MM  EE:
The range of 1. OER, MEFIR B R
adjustment 2. BUCIEA RS A I AA R
EEEE 3. RIEERIAEREEN

By adjusting the knob, you can observe light spot changes
from large to small, and become brighter and brighter.

Focus error (picture above): unclear and rough line score.

The focus is correct (picture below): the score of the engraving
line is fine.

VAT R, AT MR E M ATV NN T, S m th SERd=
BEFIR (L), B2 R B &SR ZIRENE
BRELH (TE), ERRBRLFZREKRA

Laser focus error/S BB EEIR

] r'=-_.$. .
Laser focus is correct/ S ytER £ IE M

After the board score is enlarged

ARZRMAILR

17

GRBL INTRODUCTION A MfER#E

1. Software Downloading

LaserGRBL is one of the most popular DIY laser engraving software, which can be downloaded
in LaserGRBL website http://lasergrbl.com/download/ (The installation package is also available
on the TF card from the manufacturer or USB flash disk).

Brief introduction:

LaserGRBL is easy to use. However, LaserGRBL only supports Windows system (Win XP/Win 7 /
Win 8 / XP/Win 10).

For Mac users, you can also choose LightBurn, which is also an impressive engraving software,
but it's not free. And this software also supports Windows system.

Note: The engraving machine needs to be connected with the computer during engraving, and
the software of the engraving machine cannot be turned off.

2. Software Installation
Double click the software installation package to start the software installation and click “Next”
until the installation is complete.

1.HREGTH

LaserGRBLEZ & ATHIDIVEF L BEZIFA 2 —, BT LATE LaserGRBLIMIA : http://lasergrbl.com/download/ ™ &
o (T RHNENTFREHUEFP BB RES)

&7 LaserGRBLE—MFTR. &5 tF BTheem AR, A IRM 2 LaserGRBLER R ZHFWindows &
Z5 (Win XP /Win 7 /Win 8 /XP /Win 10)

LA FMacFf, ATLUERE LightBurne LightBurntl @ —FRAE B B HBEZIN LA, T XN 21T 8 M,
X FFWindows R4t

AR BZIS R, RN BEEMITENRSERE, BReEXAR .

2. RHERE
WERHREE, IR 25k, —EnE T BHLETM.

" Setup - LaserGRBL Rhyhorn -

Select Additional Tasks
Which additional tasks should be performed?

Select the additional tasks you would like Setup to perform while installing LaserGRBL,
then dick Next.

Additional shor tcuts:
[ Create a desktop shortcut

<Back |[ Next> | | cancel

18



3. Language

Click "Language" on the menu at the top to select the language you need.

3. BSR

RERGFRE L HNSE “language”, #

# LaserGRBL v4.3.0
Grbl File Colors Language Toals 7
com ,COI‘u'I‘I—v| Baud| BB English
Bename || M falian
B T Spanish
Franch
German
Danish
Brazilian
Russian
Chinsse (simplified)
Chinsce (traditional)
Slowvalk
Hungarian
Czech
Polish
Greek
Turkish

EGITNEEELIEGASH

N MR SEEEN W ANIES

4. Load Engraving File

Click "File" and "Open File" in turn, as shown in figure 8.1, and then select the graph you want to

engrave.

LaserGRBL supports files in the formats of NC, BMP, JPG, PNG etc.

4. £ GCODEX

R RE ESRIRE XM, HENT

i, HRE T

RIS BRI ST M s FENEL A SR R, YR R B R ZIAYSC

(B#iLaserGRBLZ#FNC. BMP. JPG. PNGEHE LAY 1)

4 LaserGREL w420

Grbl Fle Colors Language Tools ?

coM [cd ¥ Open File

Fienama | ¥ Append File

Pinges @ Reload Last File
Quick Save
Save (Advanced Options)
Send To Machine
Send From Position

19

5. Set picture parameters, engraving mode and engraving quality.

1. LaserGRBL can adjust the sharpness, brightness, contrast, highlight and other properties of the
target graph. We can preview window effect during adjustment, and adjust the effect to your
satisfaction.

2. In the engraving mode, "Line-to-line Tracking" and "1Bit Shaking" can usually be chosen;"1Bit
Shaking" is more suitable for carving grayscale graph. Please Choose "Vector Diagram" or "Center
Line" if you need cutting.

3. Engraving quality essentially refers to the line width of laser scanning. This parameter mainly
depends on the size of the laser spot of the engraving machine.

Note: The recommended engraving quality range is 12-15. Different materials have different
reactions to laser irradiation, so the specific value depends on the specific engraving material.
4. At the bottom of the preview window, the graph can also be rotated, mirrored, cut and so on.
After completing the above settings, click next to enter the settings of engraving speed, engrav-
ing energy, and engraving size.

5. REE RS BAIEN. LR E

1. LaserGRBLAILUBZRBFE A HRE. TR X LE S EE M FERTUEE MR, BRI B CHER
R

2. BEZIRIUEEER R4 A “1bithlah” . “1bithlsh” BiE A BRI BB . IR EHITLIE, H1EF
“REE" 36%“EP/U232” BIREZIIR T

3. BEZI R B AR L RIEAUVCHBERAT, XD ESREBRERBTREZINAVEILRAIA ).
BWERBBEZISE TR 12-15, REBIM B TS IR B R S A E, EIt B S EEBUR T B AFRIBEZ
*71 Do

4. S E O TR P LIEIGHTTIRSL . SR 5. BTS2 (F.

FEFMRUEIRER, Rt F—FHABELEE. E’ﬁ?‘ BEBFBEAIR T BIRE,

4 Imgort Raster Image o % |

A e Color adjustment;
ot intensity adjustment
e e e— EFiRE; BERERE
(mi:] :

Coavarxion Tual

| Choose engraving mode

T EwmstEE

@) Lio To Line Saaios

Quality: 12-15 (recommended)
BmE: 12-15 (B

[ Line Brevise

Direction adjustment;

pattern cutting

HEEE; B

20



6. Set engraving speed, engraving energy, and engraving size

1. The recommended engraving speed is 1000, which is considered to be a relative appropriate
value after repeated experiments. Of course, you can increase or decrease this speed according
to your preference. A faster engraving speed will save time but lead to the decline in the engrav-
ing effect. Slower speed is the opposite.

2. In laser mode, there are two instructions: M3 and M4. M4 instruction is recommended for
engraving in "1bit jitter" mode, and M3 instruction is recommended for other cases. If you have
only M3 instruction on the laser, please check whether the laser mode is used in the GRBL
configuration. Please refer to the official instructions of LaserGRBL for GRBL configuration.

3. Choice of engraving energy. Choose it according to different materials.

4. Finally, set the size and click the "Create" button to complete the setting of all engraving
parameters.

6. IREMZIEE. MZIsEEMERIRT

1. BEZIREEINEA1000, X 2400 R 8 SRIA AR R LR G EN—ME. YREA LURIEE 2N ELT
R FBERAXNEE, BIRAGRES T % BT (8], Ba ge KB R T E, BISAEREN S Z k.
2. MESER R, TS B R NS, M3FIM4; B3 “Lbithlah” # B 2B 2 FAMATE S, EfthiE R i e
FAM3ES IR BRI D EMIIESREITH, B BGRBLEEEREHE RS B A 7 HLER, X TGRBLECER
WBAIEEZE LaserGRBLAIE /51 BR

3. BEZIBE 2R ERRIBEA RN M FIEEA RS,

4. REGBFEBRERZINRT AN, S QIR RHAMER T 22 8L E.

ity n The default engraving speed is 1000
R and can be adjusted as required
Engraving Speed IDDD mm/min

ERIN1000BEZIREE, 1RIBFRRIFE
Lazer Options

Laser OF M3~ Laser OFF 15 - (@ Set the energy value. Improper energy

sy D S oo | @ will affect the engraving effect
Inage Size and Position [an] BEREIRTE, SEETHESHIMBZINE

I:‘ Butosize =3DD DEL m
‘Size‘ w Sl | 1 H9.5 }—* Enter the size of the graph you want

Dffzet ¥ 0.0 T 0.0 e to engrave

RN ECEERZIER AN

CQ:_n;cé_l | | E_E'zj'e‘ate_!

21

CONNECT PC #2EZPCinftF

1. Connect the machine with the computer installed with LaserGRBL software with USB data
cable.

2. Plug in the power.

3. Open LaserGRBL on the computer.

4. Select the specific port number and baud rate—115200 (Figure A.10)

5. Click the lightning sign. When the lightning sign changes to the red “X” and the direction sign
is lit, it indicates that the connection is successful. (Figure A.11)

Generally, the COM port does not need to be selected manually, unless multiple serial port
devices are connected to the computer, you can find the port of the machine in the device
manager of the windows system (as shown in Figure A.09). A simpler way is to try the displayed
port number one by one.

1. FUSB#UIRLE, RIBOLREZIN S REEH LaserGRBLARHFHI FEANIE £,

2 BRIV IE R,

3. (BN 3T FFLaserGRBLE 4

4 FER AR IEFRYIR O S SR R —— 115200, (EI7RA.10)

5. RERARIINBIEEITIR, HNBARRE AT ERXARRH B A A S = R RIEZM. (BI/RA.1D)
—RIERT, COMOTAFHEER . BRNEME LB OEEEZINTENNBEEFRIEE AT
Windows R FRBNIGE SRS P FIBBEZINNB9IE O (B/RA.09), BfE 2 MNERIEE R RMIEOS K
M —IB,

& Device Manager $ LaserGREL v3.8.0

File Action Yiew Help Grbl File Colors: Language Toals

Choose the correct port

% o iz = . N T feee vljon [ow |87
PR IEHRR DO ‘ l
v A DRKTEE o —
> U] Audioinputs and cutputs Progress | | Elw
> Wl Computer .
s Disk drives Al0
» g Display adaptors
B Firmware

> ) Human Interface Devices
“m |DE ATASATAP controflers

Choose baud rate 115200 Lightning sign

s RIS 115200 IR A TR
0 Mice and other pointing devices
» [ Monitors

s 13 Netwnrk arlapters
@ Ports (COM &LPT]

§ USB-SERIAL CH34D (COME)
ML (COMT) Successful v
» = Print queues 1‘%%%]‘5?‘%521” o o
=060 "

3 ﬂ Processors
’7 F964 o 10

nes; 0 i Buffer | Estimated Time:

<

< Jo X~

COM COMB Baud 115200 %

b | =%

Al

22



Note:

If you cannot find the correct port in the “Ports”, you may need to

Method 1: Click "Tools" in the menu to install CH340 driver (This function is not available in some
software versions);

Method 2: Copy the "CH340ser. Exe" file in the TF Card (USB flash disk) to the computer and
install it.

PR AN AR R I E MRV IR -
FEL SR “Tools” RECH340 WX BREA-ER D MRASTELLIIRE) 5
F5E2 I TF-R(UA)ARRY “CH340SER.EXE™ XX E BB, H &4,

1. After the laser head has been used for a period of time, it is necessary to clean the lens
of the light outlet under the laser head to ensure normal cutting ability

2. Wiping the lens must be done after the machine is powered off, otherwise the laser will
hurt people

3. After wiping the lens, please dry it naturally for about 3-5 minutes and wait for the lens
to dry before powering it on, otherwise the light will cause the lens to break

4. You can watch the video tutorial by scanning the QR code of the manual

LBtk —REtEE, BEEMIK T AR ORN, RIETIZIRENIER

2 B G SRATAE BRbT FBfE AT, BB A
3EREKEERANTA3- S HERRLTIREBRERMER, ENEASSBEGRA R
4. Fh@Ed IR A B D B SN EGE

23

TEST BEFORE USE #1233t

1. Turn on the machine, and connect it to the computer.

2. Movement test:

Control the machine to move up, down, left and right on the software, to check whether the
direction and distance are right.(Fig. AO1)

3. Laser emission test:

Software import custom icons, then click to sent out laser(weak laser). Wear goggles and
observe whether the laser module emits blue light. (Fig. A02)

4. Test the files in the TF card:

Note: laser will generate heat and glare, which may cause harm. Please follow the instructions to
avoid injury.

LITFERIRF X, BN EZ B, BEI 23

2.5l

I EERINE N AR, BER A ARG IENR, RESHEEES EH(EA0L)

3.y

RSB EXEWR, | G550 o MBFBHIFRFEMSEIIRAR & & ST, (BlA02)
AARATFRAPEINIA S A #TREZIN IR

B RERFTERBMELE, KRR YIS B (5 E o 15 IR IR BA 1T IR F, B R 1R (0.

v| QE A

000
- 060"
. 000, | — =

nes; 0| Buffer | Estimated Time: i
(Fig. AO1) :

Set the origin Low laser Strong laser 1= = —— =2 Y
RERS EED v S b it

S
e

Y1810 o i@ T -] L
d Time: 6 min
Emit the laser  Find edge on outline (Fig. A02))
i Win
24



AFTER-SALES SERVICE &&ERS

The guarantee period is 12 months from the date of purchase.

1. Missing/Damaged/Defective Parts

Within 7 days of the date of receipt, we will replace any parts for free of charge including
shipping fees.

After 7 days of the date of receipt, we will replace any parts for free of charge. But you need to
pay the shipping fees.

2. Customer Damaged Parts: You need to pay for the cost of the parts and the shipping fees.

3. Courier company loss, missing, damaged, and defective parts.

a. Lost or damaged shipments must be reported to the carrier within the carrier's claim window,
and you need to inform us within 7 days of the date of receipt.

b. For any parts lost or damaged during shipping, you need to take photos or video and send
them to us.

c. Once the Carrier dispute is settled, please provide us with all communications with the carrier.
It is the customer’s responsibility to keep us up to date with ALL communication with the carrier.
d. For Missing Parts, you need to fill out a Service Ticket.

e. For Damaged Parts, you need to fill out a Service Ticket and send us the photos or video.

f. If the part is one of the LCD Panel, Power Supply or Mainboard, you need to ship the part back
to us and we will send a new one.

RMEBMANEMEZ HEEI2NARN,

LD SRR B ERFERYER (T

S BBENTRA, Jl I REBRERE, BIEE5%;

SWHBNTRE, B REEREAS G EER FEXEH.

2. BRI B B R NS B A TR 2R A

3 RBABFRE: FR A NB REE Ao

a. WTFERIRFHEMNRBS TR ANREEORRZSARS, R FEEZWHRENTRA
BRIFRA o

b. X FEE I P ERWRANERE M, T N ER A SAFRFE R REATR .

c. —EESAFIR, BRRINRHS AT ARG BN ERATELRITNE T #5EC ARNFTEE
Ho

d. W FERKRZH, BEPMIAS RS 2.

e. X TFRIAREMT, TR NIAES RS, AR Sl x5

f ANREAF R LCOEAR, BRI ER, ZF ROFEMFEEIA IR, el R X b T,

25



